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AP Calculus AB First Semester Final Exam Review Packet

e

Vx—= *‘é mlne f?S’I';C‘}/"Di°: ’ ‘ﬁwr NUML2aT} 4 p& oM -*‘
- % " Thedomaimof g )= f—i 1S :"o "f’:'ﬁj (J&;Lz(/r\ ’ - uﬁ el Bonor o
SD! ﬁ(s{):"_’i:’.; —rxzd

X(x~1) = x#0,|

Domain : [:2) 06)

a.(=00,0) U (0,1) U (1,00) b. (—00,0) U (0, 1) U(1,2] c (~0,2] e. (2,00)
2. Which of the following functions is not odd?

odd: f(-x) = -{(x)

- v’ 10!/0 v
@SM(«’&) = sia( 2¢) ol o4 0‘/— ;
%)= "
a) ik Sin(x)=-siny (,44) [O) X # -6+0) (ma.?ﬂ> [.xx +,“'(y=+,) \/ H09=Yac
a f)=sinx b f(x)=sin2c. fG=x"+1[ d f(x )—x2+1 e. f(x)=32x
@ 3. Which of the following is a reflection of the graph of y = f(x) over the x-axis?
oh ¢! A
- ;,,mEtﬂ .(a{ﬂ /! o’b\"ho
/X-AX"S’ i X5 t’iS ! ﬁyf A
k‘ redlec "D“) / ém}Jr > oxick a o e : Ml/o f fﬁ alo ‘+ DVJ'
. & v’t’{lt’& 72 5d7;.4 ] X
(& y=—f(x) b. y = f(-x) =1f)l  d y=f(x| e.y=—f(-x)
4. hmx-»S“zxi 322 T B B 'py i
C 8 -3 0 XII(XA) x33 Yt 4
a. 0 b. 1 C. i d. oo e. none of these
5. 1imxﬁo§= m
{ a. 1 ‘ b. 0 -g— d. -1 e. nonexistent
i S

op

5

-
-

6. llmx_,z 0 4=

o ﬁmx»&"a B OV D44 0?+{J(2)44 12

4-4 O XI2 K s X—?z (X)i/j(x‘l‘l)

¥ a®87= (a-)u abth?) (S.0.4p) |

a. 4 b. 0
*yiompmé Ce?j\-e\?S Qe’%{em pumemﬁf ﬂwe &numvm"lw'

7. i 14
+ MMy 4x?—x— 2
a. -2 C- 1

2%2 ‘f‘
c. 1

--l

-

e. o0

Stnce Desiaer mateh fuke

l’z(f”) 0‘() /?'o (/7 u&?ﬁl(/(?ﬂi—f

d. 2 e. nonexistent
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AB Farg MC #§-i5

Re{’.u‘ei/!
L,OM)')(,!:'Q Q,L,/ie\_) Since N > J;Z;M*(A) -~ L -y
8. lim \[ 50x3 227 _ + - :-\
“ - m X2 20X 10x+9 ‘:"‘_— = )0

[/aoo' b, L ¢ 3 1
4

Coe | axdizr ¥ /V\ D fm“\‘&) ’“Q
@ 9. llmx_éoo?;)_—n—

a. 3 b. o c. 1 d -1 e.O( =i
) ‘ . tanx _ O { (L )(* , = / . ’ N
i B} 100imesg == 55 3370 0 j”\ ;;"X Ao /{«»«(wx 7S B N Y
*  xIe crsx xzecmx . T 9
a. 0 bh. 1} C. T d. o0 e. nonexistent
. "X . Sy 4 MmN
o 11, hmx_,o]ic—I i_)_(__l :% % ¢ XZO N é ’, X200 Siee. xq‘g‘ (‘{x) ' m«eny;\ (X)-'(
X - . -
i Di ..E , X<e i x<c¢ : A’:mg[,\j# ,17,,,,4.%&\ It DME
X X0 /i
e 7 .
a. 0 b. 1 c -1 [d. nonexistenti é—ch e. none of these
—7 12.1imy ;osinx= i o
g Eg ’ bNE‘ ‘/\ A
- \/{ N A=
a. 0 b. -1or1 c. oscillates between -1 and 1 d. o0 é. nonexistﬂ

13.lim, 323 - & .5 Pm 3k X fimosiadk x 3
: i O T s X T wye X T Sag

y.(?ﬁ ,iiv&i‘ a

*2 Tx %

a. 0 b. 1 /‘ C. % ‘ d. g e. nonexi‘stent

El emmeormea o 7 i,
a1 b. 2 c. 0 d. nonexistent Enone of these I
15. Let f(x) = {zz —1x i }

Which of the following statements are true?

L C* s V/I. lim,_,; f(x) exists V/II. f (1) exists [Tl. fis continuousatx=1

a. lonly b. Il only c. land I d. [, Il and III e. none of them

* gf‘g/p l‘/\mt} \ c'a“‘{;nwj;l C;ngél?;z)
RO () F0)# fmif)
AL) f’f: x- = lz" =0 ¥Fuls 37 @"‘jﬂl’:w\ , Pé’mm’:z!,/é’ D;sé.z).\'l?ﬂw’g«
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b 16.0f filx) = Al xfor;t 0, f(0) = k and fis continuous at x = 0, then k =

Contraut uwﬂrf' Al Y
L)msfk ) Jin XX o 6 gnet o 08) HOZA) e

X0 2% ; %0 2 2 k - _/
- /2

a. -1 b =1 | c. 0 d. % e. 1

17.1F f(x) = =% (x 1) Sforx #1,2and f(1) = =3 and f(2) = 4, then f(x) is continuous
‘%/7:’64' cor\+mli‘l' At x= 17
[oa,( 1‘70% -{&r ) ‘),,,(2):4,
botl. x=/ .::n-Q lﬁ) p(’ “’3 “‘J'f(’) '(""{(X’) v 2

I 3 X3¢ )44. 3x(x N\/E
: a. exceptatx=1 [‘WWZ‘ ] c. exceptatx=1or 2 )WV)" continuhs

! B‘ B at x=2_
S d. exceptatx=0,1,or 2 e. at all real numbers

18.Ify =

‘./2 | 2‘,2
a2t = 0) - x-4(010) )

; \/— ” (l- 2){/“)2 -l__xz_fle
| ¥ gutort rale. 2 J—%i - (0= (%) (1-)
¥ Revin rde 7 __( o o x> /
= _5___ - Vi-x= i_Jl-x2 )
Caas | e

1-2x2 1-2x2 1
d

d. m b. (—1:_;2-31—/2 C. — . 1—-1x2 W
19.1fy = cosx?,find y' ‘ |
i Dl «j: (;O-J-(xl) ﬂlt '5”\()(9-,_.2)( = !'QXS/"n(XJ)i *Cﬂm,\ rvt/é{,

a. 2xsinx? b. — sin x?2 c. —2sinx cosx [d. —-2xsinx2/ e. sin 2x

20.1fy = 51n23x + cos?3x, find 2 = % chain rule
E 3 -[SM 3x f[&)sng 85/adxcss 3K = Csinxecos 3 -:! O ‘

—mmn - —

' ——
j: 15!113)‘]605(;)()»3 t+ Ql%«g%{] (_Si’n 3)() .3 - *‘4/52;:5_ ;I{:-Eg@jzgx /
S
a. —6sin 6x 1 b. Oi ¢. 12 sin 3x cos 3x d. 6(sin 3x + cos 3x) e 1

@‘ 21.If y = cos?x, find y' ' ‘ \
j =[Co SXJ‘ ji: J[Cosx] ("3‘2@)({} = "025‘//\)(605‘)( Ex {“'S/n o?x/

a. —sin®x  b. 2sinxcosx / c. —sin2x

d. 2cosx e. —2sinx




/4’3 Fé(/( R(’w'fw M(’ #21—22}

A | .
P : - | . o in‘ ) 79 A )
22.Ify = ay y) 2[ CsCdx cat ,,Lx)'ai *icsm-.—cs-cuméu-d’
A Y= Ssinze dx r/ — P
i Csc(Zx) 1(.5.((2)() = *(.'Scﬁxcfof Qx
47 = =0 ek -

1 oS 2x
a. —csc2x cot 2x b. .C. —4csc2xc d. e. —csc?2x
C:‘ 4 cos2x ot2x 2+/sin 2x

23.If x +cos(x+y) = 0 find —= dy yé‘/'“”‘ """(? //M/IICOL :’/'('[’Wn &%o )

I’:\/A—‘I I+ - SM[X{-Y)L/* J = O ij"‘{x“'j)")"‘(x*j)‘[

| - sm('xq-j) sin(x+q) = dy  sin(X+4y) - Sfa (x+§l ) :
[""—"' ‘i{ +7) X "Sf"('x-fj) = Sinlx+y) =-s;n (ﬂj) I (SC(X"y)
= CSC(x+y) ~ 1’ ke csc(x+y) & sin(i+y) o Vllx € 15151111317x

@ 24. If x3 — xy+y =, ﬁnd—- { /M/)/IC{ 4‘/‘{“{‘2@47‘4*?’. /J ,\fuc‘/' /?w&,
Ix*- l' +x‘&1+3 ) ( x) j 3x”
JX -—j ’X( ) 3\7 ( ) =0

3x2 3x2-1
© x-3y2 " 1-3y2

— 25.1f f(x) = 16Vx , then "' (4) = ) " “-4_
(4] , Fh)= 9% 2l ¥ )57

) = Mx&/ ) - AN |
£ lézx" =t X2l 2P ()=X__€ (3
2 o e ]
ag b. -4 c—-z- d 0 e. 6

@ 26. Ifx*:n};l‘alf;‘Swthenat(O 5)——: ': ‘iz ¢ ‘)(y) (")(c«x) /"j "-ﬁj) 2 2
°<)(+Qj(51;z) I :?2 "X ’7( , (—Ti)- ;

2
]
0{7(&3():',25( Q;Jﬁp»ffdzt et jl):—(—\ ﬁ’z __"52‘0 ~

m '{' F Ce - S
a. 0 b. % P c. -5 ?d. s ‘ e nonexistent x[gS’) 3 -

? ’ 27.1f f(x) = x21+1 = +/x, then the derivative of f(g(x)) is

—Vx -2 -2x 1 1
& ey | Do+l { ¢ Gz d G2 © E@D)

mn I , _
't'(j()())z J'TH = T - ()(-{-))l

X




AEB F&\(( ﬂ:y;’@w /V:(_ #2%,31

/ﬂ’\t ollﬁf"*w\ + 6{) f?"’\ M)

o UT (,74,v« e

' . . G o -
{_C/JZS.limh_)OQf%ﬂz __-;'T/\'.‘g iy ask:y ‘pa‘-;r /) 4.0» ‘{»(/KJ::X — ‘{'"6()’;:0/}(5

b. 1 E:B d. o e. nonexistent | {Z’)Z[(z)sﬁ

@ 29,y T2 K limct daflaton Gven 162 Lk £(F)
b

5t donttie. 3 (x)_,gx"’/g - i

-

a. | b. 1}2 c1 d. 192 e. © F(é/) / ))/ -
i ‘ 57 ;
T — ¢ 30. Suppose limx_,o&)xgLQ 1. It follows that . / )

Dj ﬂ > s R -
1L N L et (e)= NI
it dofiaon O Aenivaties  Alfentve gy ) -$le -
mt defias of oon Com # Daiie. 1) ,»iﬁfﬁ,?:j")
a. g isnotdefinedatx =0 b g is not continuous atx =0 }‘

(“"___'_\
c. The limit of g(x) as x approaches 0 equals 1 ( d g'(0)=1 ( e. g'(1)=0

("~ | 31.The function f(x) = x/3 on [-8, 8] does not satlsfy the conditions of the Mean Value

M: Theorem because 4 2. A Z | slope ues nok
.‘:[x\ contaunols z}ni C\;;/:;/l f X} = EXV_? X#o Exrst & x=20

rl

f (“ﬁé:’s;.k <‘,‘?\f!'\:"(::24lgﬂ ,,fg__{:,i,él_j T&B /‘Lj— f{e ?'{61;437‘744/"&‘ ‘?X' X () Se
a. f(0) is not defined b. f(x) is not continuous on [-8, 8] [ C‘ ) - /)/\"{‘j

c. f'(—1) does not exist d. f(x)is not defined for x < 0

S ]
e, f'(0) does not exist |
! ‘ /)«. 14 "" ’

i /
— 32 Iff(a) = f(b) = Oandf(x) is continuous on [a, b], then = Vi G conbinusis on l~ J
X6y fod /w/p ibille o (i)

‘/Cu) F/)"’ QC[)

N AN \ e S —
a. f(x) must be idéntically zero(r) b 1; may be dlfferent from zero for all x on [a, b] /

[ass /*wl o //gg\/«efm

/’ F-)c there exists at least one number ¢, a < ¢ <b, such that f'(¢) =0 / o e gzsw., , LN /1? f\ \
l Py y\
( T}d f'(x) must exist for every x on (a,b) e. none of the preceding is true f

(Aot neczssars (}) F)
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. : | ) (o) = >
*{X)c’,c '/'Aw,._s & ic/ J‘J WD[X Véﬁmnﬁwzﬂ& (0 F) 'F(J—) O F

33.If cis the number defmed by Rolle's Theorem then for f (x) = 2x3 — 6x on the interval

D [0,v3] cis W st + (x) o | Lo !

=i x=-
i (x)::éx -6 6‘(8'“’3: Q /r—‘—"—"//—/\_“
AESHNEE L | oo interi (0 I3 {

al b. -1 c V2 d. 0 e. V3
34. The slope of the curve y* — xy? = 4 at the pomtwherey 2is ¥ Fined 6‘[ df'o!/}\ i, m/m‘m
/)/u n ({ 7L~7 TI‘/L‘) o’

i “"OF '(' (}’j\j... f:"x(:g)_)“': i ¥ Tim /a//u”f a('f{ visduct Bla

3 }(( r)(?(é"f') f
SPANE Pl R ORIV Al
E Y 4 (2)/Z])-2 Y
D "fo = ‘l l.u hf (' 0{) Jzéﬁ‘\] -2"?‘ fc‘f;)\"g’ /’(;2 j/;&?) ‘Z 02{/)[;2)
| 2 b. 1 L L K-4-49.
a. - .4 C.-—E ‘ '2-{ ) ) w‘}(*"o
H 4 =0
-~ 35.The equi?kn of the line tangent to the curve y = x . sin x at the point (— —) is
= *ih”‘md—r ‘j("/)»yn("f/)UZZw(% "' +(TZ’ wy)/ ‘;”‘T “’(/ —
(] =[sinx + Xeos = [+ O={ / s/z,»f@\ M= f j:x / A M‘“Z
ay=x-—m b.y=-72E Cy=m—x d.y=x+§ /e.y=x n;éfﬁr";{;l;{*sf

i Dl 36. The minimum value of the sIop@ of the curvey—x +x3 — 2xis . / /\J’ /
#‘M.s ix Aa;:{&% ‘PC’_,, wfli’ré, J = 5)( +3X / O .Q)((/O)\ +3) —-+\A PoT”
CoNCAL JA 4/1 oM Conlavd e . . z lT Z
cAoon 1“7 ch/ K J Jb)\ H(x X=o, X/fhx j(") 5(@ r}Ac'-&l

a. 0 b. 2 c. 6 ( d. -2 :‘ e. none of these

37. The equation of the line tangent to the hyperbola x% — y? = 12 at the point (4, 2) is v

yFYll&p &H iM«lMcﬂL *ﬂf‘{‘?é"{"’\h““‘ ’ﬂlj lf‘ e ;:/M(XIMX'; ) 7
E o |y x (T 72 | ST 4= 2x-¢
dx -2 ( ) 2= 2(x-4) J
= VE: >
LJ Flptitn2) |7
)= g mza | J7278

X—2y+6=0 b. y = 2x !c y—2x—6r dy=§ eex+2y=6

38. The line tangent to the curve y2 —xy + 9 = 0 is vertical when

Vg ,( VJui[,) Hm‘f wi// CAASC. ,Za,«,yn,m-/-b, 07" C‘fy’ 74’ !“_ 280 /—[,Jg(;e umé’{éjj//a
@ ‘YIM lc,{- fﬁ;ﬁzwmtw"h/ /f" ?“c'f' raiib

oTx) [ Y x( j o | ('ij Y ¥ ?m‘/b >vag (/5”/1 it So/uz L(’pf]

A .__;’A (]) Fr((‘ o

Vile
a. y—O b. y= +/3 cy=;

¥ 2 0
2] aﬂx) X(QZ): set Aj"x“c "]'2{”“‘”

x=d ~ =1

=

e. none of these




Ag Tt Me $39- tpi4

R{’V!‘fw

¥ £ f"[;() ¢ vty BZ; fne f(S//i?krlf«A enk cout numde: T 375 )f

39. The total number of relative fnaximum and minimum points on the function who

{7~ | derivative, forall x,is given by f'(x) = x(x — 3)2(x 4 D)*is
L@/mwxsoiN 27 ‘

K= “ 3.J =l - G 3

0 g b. 11 c. 2 d. 3 e. none of these

") } 40. On the closed interval [0, 27], find the maximum value of the function f (x) =4sinx —
3 cosx. (Thisis abit ofa challenge problem. ©) ST fest "?ff/’ Fs " A criteal F s,

T0)=0-3223 |§76)= Yrosx+ 3smx =0 - Z/W%) 4(/) //)

-~ R
3
S,

Yepsx = ~35mR and uhk
‘(\(gn): 0‘3 :‘3 L; wf C’bn? 4114 ) =
= I AN N Ty Jr(m/Z) (%) hz/f/ -
a. 3 b. 4 C. ? Lfi 5 e. none of these :
E 41. Theliney = 3x + k is tangent to the curve y = x3 when k is equal to
Q s*/c,aeae‘f?’:/? g =3x® g=3xtls j:gxﬂz
) 2 2 [~p=3)+K =3(1)t K
F:&Q 0«9\.419_ j:x ﬂx;s’ 3"3)< 72 k{ ) k i 3 )
shae A3 | x22y TS L4
a. lor-1 bO([’) I ¢ 30r-3 d4or-4 e20r2/

)z -
42. Aballoon is being filled with hehum at the rate 0f4 — Fmd the rate, in square feet per
C minute, at which the surface area is increasing when the volume is 222 3. N ote the

volume of a sphere is - 7rr and the surface area of a sphere is 4nr2‘% V‘ > 7’;’
nf V V 2 s
' AT
ft L" {‘t/rn n = {T“ITWB 4’7" [é ) S LhTr | §—7_~~g ‘”/
fand L. Ll ! Juar’ 7 ) Af‘ L’L"'[Q)(é Qf Fre( R) y=r?
[ d‘(t '-_—_— | g

At~ 3 it = [gn-(jx "YT(Q)( ‘i"b) 2=r
a. 4m b. 2 & 1 [ f e
e ‘f”r-‘ﬂ J‘E t /h n
For questions 43 - 46, the motion of a particle on a strai /' e
+ ¥
= - =2 [
x(t) = t3 ~ 6t + 12t — 8. V(f)':)é /Qf‘f’l ———

2| . D 32 -Yt + oL Q
@ 43. The distance x is increasing for | (i) - gg:-g)?:-l) ) I-/'Many 3[*;,@) ) U(JQ) w)

a. t<?2 [b. alltexceptt=2] c 1<t<3 d. t<lort>3 e t>2

3o

E

S |
44. The minimum value of the speed is v( l) =0

a. 1 b. 2 c. 3 [TO—Y e. none of these

§f-1364£: leivﬁ{‘}'}’ , Se Mimmin 'Vf/ocs“‘/} i3 Z(?rt,”

e ———————,




AB Fall M

Rervrow

Hus. iy

For questions 43 - 46, the motion of a particle on a straight line is givenby  x(t) = t3 — 6t2 + 12t — 8.

45. The acceleratlon is positive when o {_{: (a1 V“) =372t
1R |
o =€t 1L R | |
A Y b) +=2 +- a({) ﬂ.[,"f)‘)(;‘ whan t>r]—

2
b. t#2 C.t<?2 d. 1<t<3 e. 1<t<2
46. The speed of the particle is decreasm for e oppdle ;NS
S E [ Vi) ("f" + P spoed s decs ke v(t) and 0(t) A2t ff ']
6‘(*)_ . . + ufKér\ f<l

a. t>2 2 b. t<3 c. allt d. t<lort>2 Enoneofthesq
47. A circular conical reservoir, vertex down, has depth 20 ft and radius of the top 10 ft.

Water is leaking out so that the surface is falling at the rate of % ft/hour. The rate, in cubic

feet per hour, at wh1ch the water is leaving the reservoir when the water 1s 8 ft deep }s V
*S/mc[,:'r “hmnj{e L= Ft - J\ ¥Rl z’{w!(’fl&"\ A f2ams .,\,.

Bpih | © a0 | VIO T E)
oiV_ dor=/oh _EI___ l\ d‘/

r:d ST r= ’_;‘LJ: ’ 272 - g{y) )(J/Z) -

/ 1 ’2/‘ 1
a. 4m b. 81 c. lé6m d — e. —

48. Two cars are traveling along perpendicular roads, car A at 40 mi/hour, car B at 60
mi/hour. Atnoon, when car A reaches the intersection, car B is 90 miles away and moving

ﬁ toward the intersection. At 1 pm, the distance between the cars is changing, in miles per
L_—-—— hour, at a rate of

)( ) o - 2 2_ 2
C-j:lh)ml\ x}()m; X+g =2 .,/
y= 40 mi (Q("{"j hx r"tj (QZ‘[ '3)
R R 50m: g(;aj(ng[%m@ Q(sc‘fj(r)

".{,22 =30 + 3260 T /00 ?Zé
A(‘ . e~
a. -40 b. 68 c 4 | d-4f e 40 =~y

. . 214
i A ‘ 49. Which statement below is true about the curve = ——=_?

247x—4x2

T f ’ The line x = —-—1s avertical asymptote WA : fn X2+%_ Zf = 5 JZ* - 'me

{j b. Theline x = 1is a vertical asymptote ol \ﬁ At [
F c. Theliney = %is a horizontal asymptote j ) /4 —
f d. The graph has no vertical or horizontal asymptotes -/ '
¢ e. Theliney = 2 is a horizontal asymptote VA - X= %f} X= (l

X2+I+ - X2+L" x—+Lf' /\

- - -

“BCH R (437, 2) -[lfx #1)(x~ 2)
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#50 le
X N -
-C(X): VA: X=-2, X=] \
/ (x +2)(x~) A E -
D “
0. Find all open intervals for which the function f(x) = e decreasmg ! '
¥ Fred €0 erbical 5)7; 51 jo Jine. -x*-2=0 2 |
“’ i(xm-z) x(2x+1) x 2 -2 /, xr=2 ’
‘ )4’)': " ") +x»—2-)x-x - X =0
()(':24.)(_2)2 ()(:_‘_x“ 2)2 {;(2*_)(_’2)/4 —”
S a. (=%, ) b. (—,0) c. (—o,—2) and (1, )
I d. (=90,-2), (=2, 1)and (1, oo—)? e. none of these
51. Find the values ?Zi x that give relative ext extrema for the function f(x) = (x + 1)*(x 2)7?
W ALied €04, £ Auct,cham vuls ; 0= (X-H)(Zx Giv+)) |+ 0 f X +
ﬁj £0)= Q()G-l)(x’-—é){'(x-(—f) (1) | ©=(Ge4)(3x-3) _ " —
O = (x-o-i)[.ﬁ(x—:)fr{y-u)J QHx-0)(x+1)  x= (-1 P
\——./ Pis —
{ . Relative maximum at x = -1; relative minimum atx/=1_] elomex ar ‘
. Relativemaximaatx = 1, 3; relative minimum atx = -1 Rel. min 4 x= l
c. Relative minimum at x = 2
. . . - /
d. Relative maximum at x = -1; relative minimum atx = 2
e. None of these
i 52. Find all intervals on which the graph of the function f(x) = —115 concave Upwar ward.
B s ek £ wgotort e OE x+3“X:' f 3 =
_(D(x43) ~(x-O (1) (x)= 4(’”3) (x+3)?
'(/)() X+3) (X~ C:(+3) ‘ i, U ~
(x+3)* /) £ {x) = 4*“2[;(13:) [/) =
(x 3)‘ =3 EpACUR U
a. (—oo,00) c. (1, 00) d. (—3,) e. none of these C w;g)

53. Let f"'(x) = 3x% — 4 and let f(x) have critical numbers at -2, 0 and 2. Use the Second
i C I Derivative Test to determine Wthh crltlcal numbers if any, give a relative maximum. U

-P“( 2) 3( },) Lt- ? Sinc2 + (,.2)')07 ﬂ;( {(2) o, Et’/ min ,_;f Y=-2
£700) = Ao —t=-tp | sira f7(0) <0 and Ftejz o, Rel.max ot x=, N

( Ceral 4V € Jyu'\

.-F‘ (2) 3(2) 4’ g s/inez '(‘ ))(}(Q‘Auﬂue uil)) &)g,/ M »j X=2 U
a. } C. Oi

b. 2 d. -Zand 2, e. none of these

( ’ 54. Find the coordinates of all extrema (relative and absolute) on the interval [0, 27] for
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58. If y = log5(x3 — 8x), find % 2
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